2011060 gmat DO OAKO73)PDFO O OO OOOOOO
OJo0oooooo
https://www.100test.com/kao_ti2020/637/2021 2022 2011 E5 B9
B46 E6 9C ¢89 637756.htm (1)U 00 DO80 OO D OOS0O O
D00 o000 doboboooooooobooo d
OO0 000000000 No.87“ Astechnologies and the
demand for certain services change, many workers will lose their
jobs. The responsibility for those people to adjust to such change
should belong to the individual worker, not to government or to
business.” 87.“ DO UO0OO0OOODOOUOOOOOOOOO
JO000o00o0oo0oodooooooooooooon
OJO000” oo oo ooooooo@mooo
). ododooo@@oooouooo)y ooooooo
[ (relocate training to retool the employee) 110 The government
should be responsible for the adjustment of the workers. If all the
citizens should be responsible for themselves, there is no use for the
government to exist. 2L1 The government should also force the
business to involve in the project. Because the government itself is
Incapable of doing so without concrete knowledge of each certain
Industry. In the long run, doing so will also benefit the business. 3L
Admittedly, the workers should not rely on others to help them to
adjust to varying situations. They themselves should adapt their skills
and knowledge to the change of the industry and of the society. [J 3
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OO0 0090 No.115% Technology ultimately separates and
alienates people more than it serves to bring them together.” 115.
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OO0000000000 V2Should surveillance camaras used
on city street to assist law enforcement in identifying and .....
V3.Surveillance cameras should be used on the city streets to assist
the law enforcement officials identifying and arresting people who
breakthelaw O D 0 OO0 000000000 OOOOOOO
DO000000odod~~0od QO Surveillance cameras should
be used on the city streets to assist officials identifying and arresting
peoplewho breakthelaw.O O D OO0 OO0 OO0 U0 OO OO
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V3 issuel] [ [ fossil fuel resourcest] [ [ I international
agreementl] O O O 0O 0O OO O V1.since fossile fuel vailed and
limited, international agreement 1 reduce fuel ...... Joouon
[ O O v2.Fossil fuel resources: For the Fossil fuel resources is XXX
andlimited, 0D OO UO0OOOOOODOODO international
agreement] O 0O O 0O O O O O fossil fuelld O O O O O O adopt
[1 OJ international agreement on reducing the dependence on fossil
fuel resourcest] V3 The fossil energy are vital and limited.
International agreement should be adopted for all countries to
decrease the dependence on the fossil energy V4 fossil fuel resources



are vital and limited, international agreements should be adopted
that would require all the nations reduce the use of fossil fuel. 0 [ [
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